
CANARABANK 09 
TEST - I 
TESTOF REASONING 
 
Q.1. In the number 7524693, howmany digits will be as far away from the beginning of the number 
ifarranged in ascending order as they are in the number? 
a)None  
b)One  
c)Two 
d) Three  
e) More than three 
 
Q.2. Four of the following five are alike in a certainway and so form a group.Which is the one that 
doesnot belong to the group? 
a) Sand  
b)Cement  
c) Building 
d)Wood  
e) Bricks 
 
Q.3. In a certain code SOLDIER is written as JFSCRNK. How is GENIOUS written in that code? 
a)PVTHHFO  
b) PVTHFDM  
c) PVTHMDF 
d) TVPHFDM  
e) None of these 
 
Q.4. If 'blue' means 'green', 'green' means 'black', 'black' means 'white', 'white' means 'pink', 
'pink'means 'red' and 'red'means 'orange', then what is the colour of blood? 
a) Red  
b) Black  
c)White 
d) Pink  
e) None of these 
 
Q.5. Howmany such pairs of letters are there in the word ELEVATION; each of which have as 
manyletters between them in the word as they have between them in the English alphabet? 
a)None  
b)One  
c)Two 
d) Three  
e) More than three 
 
These questions are based on the following arrangement. Study it carefully and answer thequestions. 
# 6 B G @ I L 7 3 H A % © D F K E B J Q 1 * V T U 2 $ W 
Q.6. If all the digits are dropped from the above arrangement which element will be fifth to the left 
ofeleventh from the left? 
a) I  

For more materials visit www.educationobserver.com/forum



b) H 
c) T 
d) *  
e) None of these 
 
Q.7. Which element is sixth to the right of fifteenth from the right in the above arrangement? 
a) Q  
b) 1  
c) J 
d) 3  
e) None of these 
 
O.8. B G : L7 : : A% :? 
a) EK  
b) DF  
c) KF 
d) FK  
e) None of these 
 
Q.9. Howmany such vowels are there in the above arrangement each of which is immediately 
followedby a symbol and also immediately preceded by a consonant? 
a)None  
b)One  
c)Two 
d) Three  
e) Four 
 
Q.10. What will come in place of the question mark (?) in the following series based on the 
abovearrangement? 
6 @ , L H , % F,? 
a) K8  
b) KJ  
c) EJ 
d) EQ  
e) None of these 
 
Q.11. How many such symbols are there in the above arrangement each of which is 
immediatelyfollowed by a consonant but not preceded by another symbol? 
a)None  
b)One  
c)Two  
d) Three  
e) Four 
 
Q.12. Four of the following five are alike in a certain way based on the positions of their elements in 
theabove arrangement and so form a group.Which is the one that does not belong to the group? 
a) I L@  
b) AH%  
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c) KFE 
d) Q J 1  
e) V * T 
 
In these questions symbols@, $, #, * & % are used with different meanings as follows: 
‘A @ B ‘means’A is smaller than B’ 
‘A $ B ‘means’ A is greater than B’ 
‘A # B ‘means’ A is either smaller than or equal to B’ 
‘A * B‘means’ A is either greater than or equal to B’ 
‘A % B’ means ‘A is neither smaller than nor greater than B’. 
In each of the following questions assuming the given statements to be true, find out which of thetwo 
conclusions I and II given below them is / are definitely true. 
Give answer a) if only conclusion I is true. 
Give answer b) if only conclusion II is true 
Give answer c) if either conclusion I or conclusion II is true. 
Give answer d) if neither conclusion I nor conclusion II is true 
Give answer e) if both conclusions I and II are true. 
 
Q.13. Statements: E @ U, U%R, R $ F 
Conclusions: I. E $ F II. E * F 
 
Q.14. Statements: P @ W, W * D, D $ J 
Conclusions: I. J @ P II. J @ W 
 
Q.15. Statements: K * D, D $ L, L @ J 
Conclusions: I. K $ L II. K # J 
 
Q.16. Statements: H # T, T @ L, L %F 
Conclusions: I. F $ H II. H # L 
 
Q.17. Statements: V $ I, I * M, M # Q 
Conclusions: I. I # Q II. I * Q 
 
Q.18. Statements: T # J, J * I, I @ W 
Conclusions: I. J @ W II. T % I 
 
These questions are based on the following set of numbers, 
386 752 961 573 839 
 
Q.19. If in each number the second and the third digits are interchanged, what will be the sum of the 
firstand third digits of the largest number? 
a) 12  
b) 17 
c) 15 
d) 11  
e) None of these 
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Q.20. If in each number the first and the third digits are interchanged, which number will be thesecond 
largest? 
a) 386  
b) 752  
c) 961 
d) 573 
e) 839 
 
Q.21. If 1 is added to the middle digit of each number and then the first and the second digits 
areinterchanged, which of the following will be the third digit of the smallest number? 
a) 6  
b) 2  
c) 1  
d) 3  
e) 9 
 
These questions are based on the following information.Study it carefullyand answer the questions. 
(i) ‘A x B’ means ‘A is father of B’. 
(ii) ‘A ÷ B’ means ‘A is daughter of B’. 
(iii) ‘A + B’ means ‘A is sister or B’ 
(iv) ‘A - B’ means ‘A is husband of B’. 
 
Q.22. Which of the following indicates ‘N is mother of K? 
a) K + L÷N x F  
b) K + L÷ N-M  
c) H × K ÷ N 
d) N x F + K  
e) None of these 
 
Q.23. In F ÷ R × H - L, how is H related to F? 
a) Father  
b) Brother  
c) Sister 
d) Cannot be determined  
e) None of these 
 
Q.24. In G x T + Q ÷ M, how is M related to G? 
a) Brother  
b) Sister  
c) Sister-in-law 
d) Cannot be determined  
e) None of these 
 
Q.25. In F - R + H ÷ T, how is F related to T? 
a) Son-in-law  
b)Daughter-in-law  
c) Son 
d)Daughter  
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e) None of these 
 
In each of the questions below are given four statements followed by four conclusions numberedI, II, III 
and IV, You have to take the giver statements to be True even if they seemto be at variancefrom 
commonly known facts. Read all the conclusions and then decide which of the givenconclusions logically 
follows from the given statements disregarding commonly known facts. 
 
Q.26. Statements:Some grapes are apples. Some apples are bananas.No guava is pomegranate All 
bananas are guavas. 
Conclusions: I. No grapes are pomegranates. II. Some guavas are grapes.III. Some guavas are apples. IV. 
No bananas are pomegranates. 
a) None follows  
b) Only II & III follow 
c) Either I or III follows  
d) Both III & IV follow 
e) None of these 
 
Q.27. Statements:Some doors are walls. All walls are floors.All floors are rooms. Some rooms are 
windows. 
Conclusions: I. All walls are rooms. II. Some rooms are doors.III. Some rooms are walls. IV. Some floors 
are doors. 
a) None follows  
b) Only I and II follow 
c) Only II and III follow  
d) Only II, III, IV follow 
e) All follow 
 
Q.28. Statements:Some roses are flowers. All leaves are plants.Some flowers are buds. All buds are 
leaves. 
Conclusions: I. Some plants are flowers II. Some roses are buds.III. No leaves are roses. IV. No roses are 
buds. 
a) Only I follows 
b) Only I & II follow 
c) Only I and either II or IV follow  
d) Only either II or IV follows 
e) None of these 
 
Q.29. Statements:Some spoons are forks. Some plates are utensils.Some forks are bowls. All bowls are 
plates 
Conclusions: I. Some utensils are forks. II. Some plates are forksIII. Some plates are spoons. IV. Some 
utensils are spoons. 
a) Only I follows 
b) Only II follows 
c) Only I and III follow  
d) Only II and IV follow 
e) None of these 
 
Q.30. Statements:Some books are journals. All journals are papers. 
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All cards are boards. Some papers are cards. 
Conclusions: I. Some papers are books. II. Some papers are boards. 
III. Some boards are journals. IV. Some boards are books. 
a) Only I and II follow  
b) Only I follows 
c) Only I, II and III follow  
d) All follow 
e) None of these 
 
Q.31. Statements:Some sweets are chocolates. Some chocolates are mints.Somemints are food. Some 
food is diet. 
Conclusions: I. No sweets are diet. II. No food is chocolatesIII. Some sweets are diet. IV. Some sweets 
are food 
a) None follows  
b) Either I or III follows 
c) Only III or IV follow 
d) Only II or III follow 
e) None of these 
 
Q.32. Statements:All chairs are tables. All tables are desks.Some desks are benches. Some desks are 
sofas. 
Conclusions: I. Some benches are sofas. II. Some sofas are tables.III. Some benches are tables. IV. No 
chairs bench. 
a) None follows  
b) Only I and II follow 
c) Only II and III follow  
d) Only I, II and III follow 
e) None of these 
 
Study the following information and answer the questions given below it. 
Eight friends A, B, C, D, E, F, G and H are sitting around a circle facing the center. E is third tothe left of G 
who is to the immediate right of B who is third to the left of A. H is second to the rightof F who is not an 
immediate neighbor of E. D is not an immediate neighbor of B.  
 
Q.33. Which of the following is the correct position of B with respect to D? 
a) Second to the right  
b) Second to the left 
c) Third to the right  
d) Third to the left 
e) None of these 
 
Q.34. Who sits between A and D? 
a) F  
b) E  
c) G  
d) B  
e) H 
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Q.35. What is E’s position with respect to C? 
a) To the immediate right  
b) To the immediate left 
c) Second to the right  
d) Cannot be determined 
e) None of these 
 
Q.36. Which of the following pairs has the first person to the immediate left of second person? 
a) GB  
b) AF  
c) CE  
d)HD 
e) None of these 
 
Q.37. Who is second to the right of B? 
a) F  
b) A  
c) H  
d) D  
e) None of these 
 
An organization wants to recruit Trainee Officers, Following are the criterion. The candidate must— 
(i) be not less than 21 years of age and not more than 28 years of age as on 1.2.2009. 
(ii) be a graduate in any discipline with at least 55% marks. 
(iii) have secured at least 50% marks in selection test, 
(iv) have secured at least 45%marks in interview, 
(v) be willing to work anywhere in India. 
However, if the candidate satisfies all the abovementioned criterion except——— 
(a) at (ii) above but is a postgraduate, the case is to be referred to the Executive Director. 
(b) at (i) above but has working experience of at least one year the case is to be referred to TheVice 
President. 
In each of the questions below, information of one candidate is given. You have to take one of 
thefollowing five decisions based on the information provided and the criterion and conditions 
givenabove. You are not to assume anything other than the information provided in each question. 
Allthese cases are given to you as on 1.2.2009. You have to indicate your decision by markinganswers to 
each question as follows— 
Mark answer a) if the case is to be referred to Executive Director 
Mark answer b) if the case is to be referred to Vice President 
Mark answer c) if the data in the statement is not adequate to take a decision. 
Mark answerd) if the candidate is to be selected. 
Mark answere) if the candidate is not to be selected. 
 
Q.38. VijayKumar is a Commerce graduate passed in 2007 at the age of 22 years with 58%marks. Heis 
willing to work anywhere in India. He has secured 48%marks in selection test and 52%marksin interview. 
 
Q.39. Avinash is a Science graduate passed in first class with 63% marks. He has secured 53% and 
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51%marks in selection test and interview respectively. He is willing to work anywhere in India. Hehas 
been working in the Marketing department of a private organization since July 2007. He wasborn on 
11.6.1980. 
 
Q.40. SunilMakwana is a graduate in Science passed with 72%marks. His date of birth is 13.10.1978.He is 
working for past two years as a clerk. He has secured 58% marks in selection test as wellas in interview. 
He is willing to work anywhere in India. 
 
Q.41. Nisha Sharma has passed B.Com, with 57%marks in July 2008, She has secured 48%marks 
ininterview and 56% marks in selection test. She is willing to work anywhere in India, She hascompleted 
25 years of age in November 2008. 
 
Q.42. RajanVaze is a graduate with 45%marks and a post graduate with 52%marks. His date of birthis 
17.6.1982 He is willing to work anywhere in India. He has secured 56%marks in interview and63% mark 
in selection test. 
 
Q.43. Shamika is a 23 years old Science graduate passed in August 2008 with 52% marks. She iswilling 
towork anywhere in India. She has cleared the selection test with 66%marks and interviewwith 56% 
marks. 
 
Q.44. Bhavesh Shah is a postgraduate in Chemistry and is working in a chemical company since pastone 
year He had scored 53% marks in graduation. He has secured 58% marks in selection testand 52%marks 
in interview. He is 26 years old at present. He is willing to work anywhere in India. 
 
Q.45. Vandana is B.A. with Economics passed with 68% marks. Her date of birth is 23.8,1983. She 
iswilling to work anywhere in India. She has secured 56%marks in interview. 
 
In each of these questions a group of letters is given followed by four combinations of digits /symbols 
numbered a), b), c) and d). Letters are to be coded by digits / symbol as per thescheme and conditions 
given below. You have to find out which combination correctly representsthe letter group and Serial no. 
of that combination is your answer, if none of the combinations is correct your answers e) i.e. ‘None of 
these’. 
Letter: T B U M L J E F I H A S K V D 
Digit / Symbol Code: 3 $ 7 8 # 9 1 % * @ 5 4 2 © 6 
Conditions: 
i. If the first letter is a consonant and the last letter is a vowel both are to be codedas the code for 
consonant. 
ii. If the first as well as the last letter is a vowel, their codes are to be interchanged. 
iii. If the first letter is a vowel and the last letter is a consonant both are to be coded as £.. 
 
Q.46. IEHLFB 
a) $£@#%£  
b) £$@#%£ 
c) $*@#%*  
d) $*@#%1  
e) None of these 
 
Q.47. MJFSVA 
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a) 89%4©5  
b) 59%4©5 
c) 59%4©8  
d) 89%4©8  
e) None of these 
 
Q.48. VBFJHI 
a) ©$%9@*  
b) *$%9@©  
c) *$%9@*  
d) *$%9@£ 
e) None of these 
 
Q.49. JUKSTD 
a) 672439  
b) 972436  
c) 972439  
d) 672436  
e) None of these 
 
Q.50. AKJHLE 
a) 529@£1 
b) 529@#5 
c) 129© #5  
d) £29@#£ 
e) None of these 
 
Study the following information and answer the questions given below it– 

Sevenmembers H,I,J, K, L,M&N areworking in different cities Ahmedabad, Bangalore,Chennai, 
Hyderabad, Kolkata, Delhi and Mumbai not necessarily in the same order. Each one has 
adifferentmother tongue Tamil, Kannada, Telugu,Hindi,Marathi, Punjabi and Bangla not necessarilyin 
the same order. 

J works in Bangalore and hismother tongue is not Tamil orMarathi. K’s mother tongue is 
Punjabiand he works in Ahmedabad. L and M do not work in Chennai and neither of them has Marathi 
mother tongue. I works in Hyderabad and his mother tongue is Telugu. The one who works in Delhi has 
Bangla mother tongue. N works in Mumbai and his mother tongue is Hindi. L does not work in Kolkata. 
 
Q.51. What is M’s mother tongue? 
a) Bangla  
b)Marathi 
c) Telugu 
d) Cannot be determined  
e) None of these 
 
Q.52. Who works in Delhi? 
a) H  
b) M  
c) L  
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d) K  
e) None of these 
 
Q.53. Who works in Chennai? 
a) H  
b) L  
c) M 
d) L or M  
e) None of these 
 
Q.54. What is J’s mother tongue? 
a) Telugu  
b) Hindi  
c) Bangla  
d) Kannada  
e) None of these 
 
Q.55. Which of the following combination is correct? 
a) Marathi - I - Hyderabad  
b) Tamil - M - Kolkata  
c) Marathi -I-Chennai 
d) Punjabi- K - Delhi  
e) None of these 
 
In each question below is given a statement followed by two assumptions numbered I and II. 
Anassumption is something supposed or taken for granted. You have to consider the statement andthe 
following assumptions and decide which of the assumptions is implicit in the statement. 
Give answer a) if only assumption I is implicit. 
Give answer b) if only assumption II is implicit 
Give answer c) if either assumption I or II is implicit, 
Give answer d) if neither assumption I nor II is implicit. 
Give answer e) if both assumptions I and II are implicit. 
 
Q.56. Statement:Many organizations have switched over to on-linemode of examinations. 
Assumptions: I.Candidates from all parts of the countrymaybewell versed using computers. 
II. On-line mode of examinations helps in recruitingmore capable personnel. 
 
Q.57. Statement:Government has decided to relocate all the factories from the city withimmediate 
effect to reduce the pollution. 
Assumptions: I. Pollution in the city is being caused only because of the factories existingthere. 
II. People may be able to manage travelling daily to the relocated factories. 
 
Q.58. Statement:The government announced a heavy compensation package for all the victimsof the 
terrorist attacks. 
Assumptions: I. Such incidents of terror may not occur in near future. 
II. Compensationmaymitigate the anger among the citizens against the currentgovernment. 
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Q.59. Statement:Gambling through lotteries is banned by central government in all the stateswith 
immediate effect. 
Assumptions: I. This may save innocent citizens from getting cheated of their hard earnedmoney 
II. The citizens may not gamble in any other way if the lotteries are banned. 
 
Q.60. Statement:Even though the number of sugar factories is increasing at a fast rate in India,we still 
continue to import it from other countries. 
Assumptions: I. Even the increased number of factoriesmay not be able tomeet the demandof sugar in 
India.II. The demand for sugar may increase substantially in future. 
 
In each of the questions given below which one of the five answer figure on the right should come after 
the problem figures on the left, If the sequence were continued. 
 

PROBLEMFIGURES    ANSWERFIGURES 
Q.61. 

 
a)b)c)d)e) 

 
Q.62. 

 
a)b)c)d)e) 

 
Q.63. 

 
a)b)c)d)e) 

 
Q.64. 

 
a)b)c)d)e) 

 
Q.65. 
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a)b)c)d)e) 

 
Q.66. 

 
a)b)c)d)e) 

 
Q.67. 

 
a)b)c)d)e) 

 
Q.68. 

 
a)b)c)d)e) 

 
Q.69. 

 
a)b)c)d)e) 

 
Q.70. 

 
a)b)c)d)e) 

 
In each question below five figures are given. Four are similar in a certain way and so form a group 
.Thequestion is which one of the figure does not belong to that group? 
 
Q.71. 
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a)b)c)d)e) 

 
Q.72. 

 
a)b)c)d)e) 

 
Q.73. 

 
a)b)c)d)e) 

 
Q.74. 

 
a)b)c)d)e) 

 
Q.75. 

 
a)b)c)d)e) 

 
 
TEST - II 
QUANTITATIVEAPTITUDE 
 
Each question below is followed by two statements A and B. You are to determine whether the data 
given in the statement is sufficient for answering the question. You should use the data and your 
knowledge of Mathematics to choose between the possible answers. 
Give answer a) if the statement A alone is sufficient to answer the question, but the statement B alone is 
not sufficient. 
Give answer b) if the statement B alone is sufficient to answer the question, but the statement A alone 
is not sufficient. 
Give answer c) if both statements A and B together are needed to answer the question. 
Give answer d) if either the statement A alone or statement B alone is sufficient to answer the question. 
Give answer e) if you cannot get the answer from the statement A and B together, but need evenmore 
data. 
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Q.76. What is the rate of interest p.c.p.a. on an amount of Rs. 12000/- deposited in a Bank? 
A. The difference between the simple interest and compound interest is Rs. 172.8. 
B. The simple interest for two years is Rs. 2880/-. 
 
Q.77. What is the profit earned by selling a Laptop for Rs.26,250/-? 
A. The cost price of 5 such Laptops is equal to selling price of 4 such Laptops. 
B. 25% profit is earned by selling each Laptop. 
 
Q.78. How many women can complete a piece of work in 15 days? 
A. If 12 women can complete the same piece of work in 20 days. 
B. If 10 men can complete the same piece of work in 12 days. 
 
Q.79. What is the three digit number? 
A. The three digit number is exact multiple of 13. 
B. The first and the third digit are 7. 
 
Q.80. What is the age of C, in a group of A, B, C, D and E whose average age is 45 years? 
A. Average of the ages of A and B is 53 years. 
B. Average of the ages of D and E is 47 years. 
 
Q.81. If the numerator of a fraction is increased by 200% and the denominator is increased by 400%. 

The resultant fraction is 1 .What was the original fraction? 

a) 1  

b)  

c)  

d) 1  

e) None of these 
 
Q.82. What is 35% of 42% of 6/7th of 500? 
a) 36  
b) 44  
c) 52 
d) 60  
e) None of these 
 
Q.83. 18 children can do a piece of work in 12 days. How many children would be required to do the 
same work in 8 days? 
a) 12  
b) 18  
c) 24 
d) 27  
e) None of these 
 
Q.84. The product of two successive numbers is 9506.Which is the smaller of the two numbers? 
a) 96  
b) 97  
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c) 98 
d) 99  
e) None of these 
 
Q.85. In a class of 65 students and 4 teachers, each student got sweets that are 20% of the total number 
of students and each teacher got sweets that are 40% of the total number of students. Howmany sweets 
were there? 
a) 845  
b) 897  
c) 949 
d) 104  
e) None of these 
 
What approximate value should come in place of questionmark (?) in the following questions?(you are 
not expected to calculate the exact value.) 
 
Q.86. 675.456 + 12.492 × 55.671 =? 
a) 971  
b) 1071  
c) 1171  
d) 1271  
e) 1371 
 
Q.87. 4374562 × 64 =? × 7777 
a) 360  
b) 3600  
c) 36000  
d) 360000  
e) 3600000 
 
Q.88. (4576 + 3286 + 5639) ÷ (712 + 415 +212) =? 
a) 18  
b) 22  
c) 34  
d) 10  
e) 46 
 
Q.89. (872% of 659) ÷ 543 =? 
a) 17  
b) 11  
c) 21  
d) 27  
e) 31 
 
Q.90. (447.22)2 =? 
a) 200000  
b) 210000  
c) 220000  
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d) 230000  
e) 240000 
 
What should come in place of question mark (?) in the following number series? 
Q.91. 963 927 855 747 603 423? 
a) 209  
b) 208  
c) 207  
d) 206  
e) 205 
 
Q.92. 18 20 44 138 560 2810? 
a) 16818  
b) 16836  
c) 16854  
d) 16872  
e) 16890 
 
Q.93. 1200 480192 76.8 30.72 12.288? 
a) 4.9152  
b) 5.8192  
c) 6.7112  
d) 7.6132  
e) 8.5172 
 
Q.94. 5 9 18 34 59 95? 
a) 272  
b) 168  
c) 116  
d) 148  
e) 144 
Q.95. 841 961 1089 1225 1369 1521? 
a) 1581  
b) 1681  
c) 1781  
d) 1881  
e) 1981 
 
What should come in place of question mark (?) in the following questions? 

Q.96. 2432 ÷? =  
a) 12 b) 14 c) 18  
d) 16 e) None of these 
 
Q.97. 8888 + 848+ 88 -? = 7337 + 737 
a) 1750 b) 1650 c) 1550  
d) 1450 e) None of these 
 
Q.98. 414 ×? × 7 = 127512 
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a) 36 b) 40 c) 44  
d) 48 e) None of these 
 
Q.99. (?)2 + (123)2 = (246)2 - (99)2 - 2462 
a) 184  
b) 186  
c) 182  
d) 180  
e) None of these 
 
Q.100. 74 + 12 × 0.75- 6 =? 
a) 72 
b) 67  
c) 62 
d) 77  
e) None of these 
 
Q.101. 515.15 - 15.51 - 1.51 - 5.11 - 1.11 =? 
a) 491.91  
b) 419.91  
c) 499.19  
d) 411.19 
e) None of these 
 
Q.102. 38 * 34= ? 
a) (27)3 
b) (729)2 
c) (27)5 
d) (729)3 
e) None of these 
 
Q.103. 24.424 + 5.656 + 1.131 + 0.089 =? 
a) 31.003  
b) 31.3  
c) 31.03 
d) 31.0003 
e) None of these 
 
Q.104. [842 / 28 * 12] / 24 = 7* ? 
a)15  
b) 17  
c) 19  
d) 21  
e) None of these 
 
Q.105. (7.9% of 134) - (3.4% of 79) =? 
a) 8.1  
b) 7.8  
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c) 8.6  
d) 7.3  
e) None of these 
 
Study the following graph carefully to answer the questions that follow:— 

Total Sale of English and Hindi Newspaper in Five Different Localities of a City 

 
 

Q.106. The sale of English Newspaper in Localities B & D together is approximately what percent of the 
sale of English Newspaper in Localities A, C and E together? 
a) 162  
b) 84  
c) 68  
d) 121  
e) 147 
 
Q.107. What is the difference between the total sale of English Newspapers and the total sale of Hindi 
Newspapers in all the Localities together? 
a) 6000  
b) 6500  
c) 7000  
d)7500  
e) None of these 
 
Q.108. The sale of English Newspaper in Locality A is approximately what percent of the total sale of 
English Newspapers in all the Localities together? 
a) 527  
b) 25  
c) 111  
d) 236  
e)19 
 
Q.109. What is the average sale of Hindi Newspaper in all the Localities together? 
a) 6600  
b) 8250  
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c) 5500  
d) 4715  
e) None of these 
 
Q.110. What is the respective ratio of the sale of Hindi Newspaper in Locality A to the sale of Hindi 
Newspaper in Locality D? 
a) 11:19  
b) 6:5  
c)5 : 6  
d) 19:11  
e) None of these 
 
Q.111. The compound interest accrued on an amount of Rs. 25,500 at the end of three years is Rs. 
8,440.5.What would be the simple interest accrued on the same amount at the same rate in the same 
period? 
a)Rs. 4,650/-  
b) Rs. 5,650/-  
c) Rs. 6,650/-  
d) Rs. 7,650/-  
e) None of these 
 
Q.112. Bovina spent Rs. 44,668/- on her air tickets, Rs.56,732 on buying gifts for the family members 
and the remaining 22% of the total amount she had as cash with her.What was the total amount? 
a) Rs. 28,600/-  
b) Rs. 1,30,000/-  
c) Rs. 1,01,400/-  
d) Rs. 33,800/-  
e) None of these 
 
Q.113. Rubina decided to donate 16% of her monthly salary to an NGO. On the day of donation she 
changed hermind and donated Rs. 6,567/- which was 75%of what she had decided earlier. Howmuch is 
Rubina’s monthly salary? 
a) Rs.8,756/-  
b)Rs. 54,725/-  
c) Rs. 6,56,700/-  
d) Rs. 45,696/-  
e) None of these 
 
Q.114. The profit earned after selling an article for Rs.1,754/- is the same as loss incurred after selling 
the article for Rs.1,492/-. What is the cost price of the article? 
a) Rs. 1,623/-  
b) Rs. 1,523/-  
c) Rs. 1,689/- 
 
d) Rs. 1,589/-  
e) None of these 
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Q.115. A sum of money is divided among A, B, C and D in the ratio of 3 :4 : 9 : 10 respectively. If the 
share of C is Rs.2,580/-more than the share of B, then what is the total amount of money of A and D 
together? 
a) Rs. 5,676/-  
b) Rs. 6,192/-  
c) Rs. 6,708/-  
d) Rs. 7,224/-  
e) None of these 
 
Study the table carefully to answer the questions that follow:—— 

Percentage of Marks Obtained by Different Students in Different Subjects 
 

 
 

Students 

  SUBJECTS    

Hindi 
(100) 

English 
(50) 

Maths 
(150) 

S.St 
(125) 

Science 
(150) 

Marathi 
(50) 

Bhavya 98 88 84 88 64 68 

Pankaj 77 92 92 88 84 80 

Tanish 81 80 84 80 78 90 

Arnav 90 86 76 64 66 56 

Anshul 69 66 66 76 72 72 

Devang 89 90 70 92 60 66 

 
 
Q.116. How many Students have scored the highest marks in more than one Subject? 
a)None  
b)One  
c)Two  
d) Three  
e) None of these 
 
Q.117. What is Tanish’s overall percentage of marks in all subjects together? 
a) 85.92  
b) 72.64  
c) 81.44  
d) 76.32  
e) None of these 
 
Q.118. Who has scored the highest marks in all the subjects together? 
a) Bhavya  
b) Pankaj  
c) Anshul  
d)Devang  
e) None of these 
 
Q.119. How many marks did Bhavya get in all the Subjects together? 
a) 508  
b) 477  
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c) 454  
d) 537  
e) None of these 
 
Q.120. What are the average marks obtained by all students together in Marathi? 
a) 72  
b) 48  
c) 28  
d) 36  
e) None of these 
 
Study the pie-chart carefully to answer the questions that follow: 

Percentage-Wise Break up of Students in terms of Specialization in MBA 
Total Number of Students = 8000 

 
 

Q.121. Students having IR as specialization forms approximately what percent of students having HR as 
specialization? 
a) 87  
b) 106 
c) 76  
d) 62 
e) 114 
 
Q.122. What is the respective ratio of the students having Finance as specialization to that of students 
having HR as specialization? 
a) 11 : 19 
b)18 : 13 
c)6 : 7 
d)12 : 21 
e) None of these 
 
Q.123. What is the total number of students having specialization in IR, Marketing and IT? 
a) 4640  
b) 4080 
c) 4260  
d) 4400 
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e) None of these 
 
Q.124. What is the total number of students having IB as specialization? 
a) 1520  
b) 1280 
c) 1360  
d) 1120 
e) None of these 
 
Q.125. Students having IB as specialization forms approximately what percent of students having 
Marketing as specialization? 
a) 116  
b) 86  
c) 124 
d) 74  
e) 66 
 
TEST - III 
GENERALAWARENESS 
Q.126. The preferential trade agreement of India with which of the following country has helped it to 
crossbilateral trade of $2.3bn? 
a) Brazil  
b) Chile  
c) Japan  
d) Russia  
e) None of these 
 
Q.127. With the decks cleared for the delivery of phalcon awacks, Indian air force will get a high 
potentialto bolster India's defence capability.With which of the following "phalcon awacks" associated? 
a) Air borne warning and control system  
b)Weather forecasting 
c) Data linking  
d) 1 and 3 
e) None of these 
 
Q.128. Which of the following statements is/are TRUE about the recommendations made on 
highereducation? 
(A) Universities to be self-regulatorybodies to be assisted byhassle-free and transparent 
regulatoryprocesses. 
(B) Undergraduate programs to be restructured to enable students to have opportunities toaccess all 
curricular areas with mobility. 
(C) Creation of an all-encompassing commission for higher education, a central statutory body toreplace 
the existing regulatory bodies including UGC, AICTE and others. 
a) A and B  
b) B and C  
c) A and C  
d) All  
e) None of these 
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Q.129. Who has been appointed as the Federal Chief Information Officer at theWhite House? 
a)NeelamKapoor 
b)Sandip Patel  
c)Sonal Shah 
d)VivekKundra 
e) None of these 
 
Q.130. Why Charles Shimonyi was in news recently? 
a) Appointed as the Federal Chief InformationOfficer 
b) Became the first person to travel twice to space as a tourist 
c) A eminent Gandhian thinker and spiritual teacher. 
d) Chief of the United States Central Intelligence Agency (CIA) 
e) None of these 
 
Q.131. HESCO has been selected for the national award for women welfare through applications 
ofscience and technology for the year 2008.What is full form of HESCO? 
a) The Himalayan Environmental Studies and ConservationOrganization. 
b) The Himachal Environmental Studies and ConservationOrganization. 
c) The Himalayan Ecological Studies and ConservationOrganization. 
d) The Himachal Ecological Studies and ConservationOrganization 
e) None of these 
 
Q.132. Which of the following crops cannot be called a plantation crop? 
a)Wheat  
b) Oil Palm  
c)Rubber  
d)Coffee  
e) Coconut 
 
Q.133. Which of the following is not a "social" sector programme run by the Govt. of India? 
a) National Rural HealthMission  
b)SarvaShikshaAbhiyan 
c) Mid-DayMeal Scheme  
d) Integrated child Development Services 
e) Bharat Nirman 
 
Q.134. Which of the following is not a source of Tax Revenue collected by the Govt. of India? 
a) Custom Duty  
b) Exercise Duty  
c) Income Tax 
d) Service Tax  
e) Dividends & Profits. 
 
Q.135. Which of the following statement(s) is/are TRUE about public sector enterprises survey 2007-08? 
(A) ONGC top profit-making central PSU. 
(B) National Aviation Company of India Ltd was biggest loser. 
(C) NHPC was top profit-making central PSU 
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a) A and B  
b) B and C  
c) A and C 
d) All  
e) None of these 
 
Q.136. Very often we read in newspaper about the foreign direct investment (FDI) through 
automaticroute. What is meant by automatic route? 
a) It is a process which allows foreign investors to trade shares of any Indian company on dayto-day 
basis. 
b) It is a process bywhich Indian companies are allowed to issue shares to any foreign investoras a part 
of their paid up capital in the project in which they have made an investment. 
c) It is a process in which all foreign investors are asked to make all their investments in Indianprojects in 
rupee currency only and too in cash only. 
d) All 
e) None of these 
 
Q.137. Which of the following state issued anti-ragging ordinance? 
a)Kerala 
b) Haryana  
c) Tamil Nadu  
d) Delhi  
e) None of these 
 
Q.138. Which of the following statement(s) is/are TRUE aboutHindu Shrine Board in Jammu & Kashmir? 
(A) Jammu & Kashmir Government will set up a Hindu Shrine Board for better management 
andregulation of Hindu Shrines in the Kashmir Valley. 
(B) Bill has been tabled in State Assembly. 
(C) The Board shallcomprise of two officialmembers who are nominated by the government andthen 
other members who will be elected. 
a) A and B  
b) B and C  
c) A, B and C  
d) A and C  
e) None of these 
 
Q.139. Who among the following took oath as the new Chief Justice of the Rajasthan High Court? 
a) Deepak Verma  
b)VivekKundra 
c)NeelamKapoor 
d)SharadSabharwal 
e) None of these 
 
Q.140. Which of the following Indians are among 14 writers from twelve countries for the race of 
thisyear's Man Booker International Prize? 
(A)Mahasweta(B) Smitu Kothari (C) V.S. Naipul 
a) A and B  
b) A and C  
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c) B and C  
d) All  
e) None of these 
 
Q.141. Which of the following statement(s) is/are TRUE about ‘Crop Fungus’?? 
(A) The world's leading crop scientist has given a warning that a deadly airborne fungus coulddevastate 
wheat harvest in the countries including India. 
(B) The fungus in named as Ug 99. 
(C) According to GlobalWind Modal, crop fungus can infect crops in just a few hours and vastcloud of 
invisible spores can be carried. 
a) All  
b) A and B  
c) B and C  
d) A and C  
e) None of these 
 
Q.142. Recently Centre has approved 22 FDI proposals.What is the cost of these FDI? 
a) Rs. 450 cr.  
b) Rs. 541.25 cr.  
c) Rs. 391.25 cr.  
d) Rs. 600 cr.  
e) None of these 
 
Q.143. Who among the following are the finalists of Time magazine's most influential people 2009? 
(A) Shah Rukh Khan (B) SoniyaGandhi (C) Ratan Tata 
a) A and B  
b) B and C  
c) A and C 
d) All  
e) None of these 
 
Q.144. Researchers of which of the following countries have recently reported that red meat is 
dangerousfor life? 
a) U.S.  
b) Britain  
c) France  
d) Russia  
e) None of these 
 
Q.145. In which of the following state Model-e-court is launched? 
a) Rajasthan  
b) Haryana  
c)Gujarat  
d)Kerala 
e) None of these 
 
Q.146. An instrument that derives its value from specified underlying(currency, gold, etc) is known as- 
a) Hedge Fund  
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b)Factorization 
c) Venture capital  
d) Funding  
e) None of these 
 
Q.147. RBI's openmarket operation transaction are carried out with a view to regulate– 
a) Liquidity in the economy  
b)Prices of essential commodity 
c) Inflation  
d) Barrowing power of the banks 
e) All of the above. 
 
Q.148. People of which of the following state will undergo lifestyle changes according to 
environmentplan to make state, India's first carbon-free state? 
a) Himachal Pradesh  
b) Haryana  
c)Kerala 
d) Tamil Nadu  
e) None of these 
 
Q.149. On which of the following day "World Consumer Right Day" observed? 
a) 12March  
b) 15March  
c) 21 April  
d) 15 April  
e) None of these 
 
Q.150. Which of the following statements is/are TRUE about UNAT? 
(A) 5 Indians have been elected to the UN appeals Tribunal (UNAT) for a seven year term 
(B) There were 13 candidates for the 7 posts for the first elections held under UN's internaljustice 
system 
(C) The assembly had established a two tier system of administration of justice comprisingUnited 
Nations Dispute Tribunal to deal with internal grievances and disciplinary casesrelated to the staff. 
a) A and B  
b) B and C  
c) A and c  
d) All of above  
e) None of these 
 
Q.151. By when the technology to kill any aggressor ballistic missile of 2000 km range would 
bemastered as claimed by DRDO? 
a) 2012  
b) 2015  
c) 2011  
d) 2020  
e) None of these 
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Q.152. State owned banks are likely to miss the agriculture credit target for 2008-09 for the first time 
infive-years.What is the target for 2008-09? 
a) Rs 310000 cr.  
b) Rs 280000 cr.  
c) Rs 250000 cr. 
d) Rs 320000 cr.  
e) None of these 
 
Q.153. In which of the following country's battle zone has India, the only country, sends a team 
ofdoctors and providedmedicines? 
a) Sri Lanka  
b)Myanmar 
c) Pakistan  
d) Iraq  
e) None of these 
 
Q.154. According to which of the following country, India will become the world's first carbon-
neutralcountry within a decade? 
a) U S A  
b) Australia  
c) Russia  
d)Maldives  
e) None of these 
 
Q.155. By what percent has government reduced the central excise duty which was 10% before? 
a) 6%  
b) 5%  
c) 9%  
d) 8%  
e) None of these 
 
Q.156. What is currency swap? 
a) An instrument to manage credit risk 
b) An instrument to manage home loan risk 
c) An instrument to manage N P A returns risk. 
d) An instrument tomanage cash flow in different currencies. 
e) None of these 
 
Q.157. RecentlyRBI has made slight changes in Repo-rate andReverse-repo rate while CRR 
remainedunchanged.Which of the following can explain the Reverse Repo-rate? 
a) Injecting liquidity by Central Bank of a country through purchase of Govt. securities. 
b) Absorption of liquidity from the market by the Sale of Govt. Securities. 
c) Balancing the liquidity with the view to enhancing economic growth rate. 
d) Improving the position of availability of the securities in the market. 
e) None of these 
 
Q.158. Which of the following statements is/are TRUE about MSP fixed for Rabi crops? 
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(A) On the recommendation of the commission for Agricultural costs and price (CACP), thecabinet 
committee on Economic Affairs approved the MSP for Rabi crops of 2008-09. 
(B) The MSP for wheat has been fixed at Rs 1080 per quintal 
(C) TheMSP is the remunerative price at which the government procures from the formers toprevent 
distress sale in case of market slip. 
a) A and B  
b) B and C 
c) A and C 
d) All of the above  
e) None of these 
 
Q.159. What is the name of indigenous satellite launched by Iraq in February? 
a) Safir-2  
b) Safir-1  
c) Sina-1  
d) Explorer-2  
e) None of these 
 
Q.160. Which of the following meet was termed as "Shaping the Post-CrisisWorld"? 
a)G-8  
b) W E F  
c)G-20  
d) ASEAN  
e) None of these 
 
Q.161. J. SigurDasdottir is the first-ever women Prime Minister. To which country she belongs? 
a) Iceland  
b)Howland  
c) Switzerland  
d) Finland  
e) None of these 
 
Q.162. According to recent IMF forecast, by what percent global output will contract this year? 
a) 0.5%  
b) 1.3%  
c) 1.6%  
d) 1%  
e) None of these 
 
Q.163. Which of the following statements is/are TRUE about "H1-B Visa"? 
(A) According to NASSCOMits provisions are targeting Indian firms and restricting their ability 
tocompete in U.S. market. 
(B) According to NASSCOM, though the stated objective is to prevent the fraud and visa abuse,several of 
the provisions were against the principles of free-trade 
(C) Indian companies had been allocated only 12,000 visas in 2008, out of the limit of 85,000. 
a) A and B  
b) B and C  
c) A and C  
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d) All  
e) None of these 
 
Q.164. Which of the following statements is are TRUE about FDI, a term frequently used in newspaper? 
(A) According of to the new guidelines, if an Indian company with foreign equity less than 50%invests in 
a firm it would not be considered as F D I. 
(B) India is estimated to have received F D I of $ 27.5bn in 2008-09. 
(C) The Department of Industrial Policy and Promotion DIPP is the nodal point for FDI guidelines 
a) A and B  
b) B and C  
c) A and C  
d) All  
e) None of these 
 
Q.165. Recently why the RBI have opposed the setting up of an Independent DebtManagement office 
tomanage the debt of the Government? 
a) Govts. credit risk is high, so it is not good time to set it up. 
b) Govts. high fiscal deficit,so it is not good time to set it up. 
c) Govts. low credit, so it is not good time to set it up. 
d) Govts. already set up Debt Management Tribunal. 
e) None of these 
 
Q.166. Who was the first President of India? 
a) Dr. S. Radhakrishnan  
b) Dr. Rajendra Prasad  
c)GyaniZail Singh 
d) B.D. Jatti 
e) None of these 
 
Q.167. The 'Islam' has been abolished as official religion during the reign of- 
a) Babar  
b)Shershah 
c) Akbar  
d) Shahjahan  
e) None of these 
 
Q.168. 'Maori's are the tribes of - 
a) NewZealand 
b) Japan  
c)Canada  
d) Australia  
e) None of these 
 
Q.169. The "Gupta dynasty" was founded by- 
a)Chandragupta-II  
b)Kumargupta 
c)Chandragupta-I 
d)Shrigupta 
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e) None of these 
 
Q.170. The 'JamaMosque' was built by- 
a) Aurangzeb  
b) Akbar  
c) Shahjahan  
d)Allauddin 
e) None of these 
 
Q.171. Who was the founder of Mughal Empire - 
a) Babar  
b)Humayun 
c) Akbar  
d) Shahjahan  
e) None of these 
 
Q.172. Battle field of the 'Plasi' is located at- 
a)W.Bengal 
b)Gujarat  
c) Bihar  
d)Orissa 
e) None of these 
 
Q.173. Decibal is unit of- 
a) Sound  
b) Light  
c) Force  
d) Pressure  
e) None of these 
 
Q.174. 'Angstrom'measures- 
a)Frequency 
b)Wave length  
c) Distance  
d) Time  
e) None of these 
 
Q.175. SwamiMahavir was born at - 
a)Sarnath 
b)Lumbini 
c)Pawapuri 
d)Nalanda 
e) None of these 
 
TEST- IV 
ENGLISHLANGUAGE 
Read the following passage carefully and answer the questions given below it. Certain words/phrases 
are printed in bold to help you to locate them while answering some of the questions. 
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John Maynard Keynes, the trendiest dead economist of this apocalyptic moment, was the 

godfatherof government stimulus. Keynes had the radical idea that throwing money at recessions 
throughaggressive deficit spending would resuscitate flat lined economies - and he wasn’t too 
particularabout where the money was thrown, in the depths of the Depression, he suggested that the 
Treasurycould “fill old bottles with banknotes, bury them at suitable depths in disused coal mines” then 
sitback and watch a money-mining boom create jobs and prosperity. “It would, indeed, be more 
sensibleto build houses and the like,” he wrote, but “the above would be better than nothing.” 

As President-elect Barack Obama prepares to throw money at the current downturn - a 
stimuluspackage starting at about $800 billion, plus the second $350 billion chunk of the financial 
bailout – weall really do seem to be Keynesians now. Just about every expert agrees that pumping $1 
trillion intoa moribund economy will rev up the ethereal goods-and-services engine that Keynes called 
“aggregatedemand” and stimulate at least some short-term activity, even if it is all wasted on money 
pits. ButKeynes was also right that there would be more sensible ways to spend it. There would also be 
lesssensible ways to spend it. A trillion dollars’ worth of bad ideas - sprawl-inducing highways 
andbridges to nowhere, ethanol plants and pipelines that accelerate global warming, tax breaks 
foroverleveraged McMansion builders and burdensome new long-term federal entitlements - would 
beworse than mere waste. It would be smarter to buy every American an iPod, a set of Ginsu knives 
and600 Subway foot-longs. 

It would be smarter still to throw all that money at things we need to do anyway, which is the 
goal ofObama’s upcoming American Recovery and Reinvestment Plan. It will include a mix of tax cuts, 
aid tobeleaguered state and local governments, and spending to address needs ranging from food 
stampsto computerized health records to bridge repairs to broadband networks to energy-efficiency 
retrofits,all designed to save or create 3 million to 4 million jobs by the end of 2010. Obama has said 
speedis his top priority because the faster Washington injects cash into the financial bloodstream, 
thebetter it stands to help avert a multiyear slump with double-digit unemployment and deflation. But 
healso wants to use the stimulus to advance his long-term priorities: reducing energy use and 
carbonemissions, cutting middle-class taxes, upgrading neglected infrastructure, reining in health-
carecosts and eventually reducing the budget deficits that exploded under George W. Bush. Obama’s 
goalis to exploit this crisis in the best sense of the word, to start pursuing his vision of a greener, 
fairer,more competitive, more sustainable economy. 

Unfortunately, while 21st century Washington has demonstrated an impressive ability to spend 
moneyquickly, it has yet to prove that it can spend money wisely. And the chum of a 1 with 12 zeros is 
alreadycreating a feeding frenzy for the ages. Lobbyists for shoe companies, zoos, catfish larmers, 
mallowners, airlines, public broadcasters, car dealers and everyone else who can afford their 
letsinersare lining up for a piece of the stimulus. States that embarked on raucous spending and tax-
outingsprees when they were flush are begging for bailouts now that they’re broke. And politicians 
aredusting off their unfunded mobster museums, waterslides and other pet projects for rebranding 
asnovel-ready infrastructure investments. As Obama’s aides scramble to assemble something effective 
andtransformative as well as politically achievable, they acknowledge the tension between his desiresfor 
speed and reform. 

 
Q.176. Obama’s upcoming American Recovery and Reinvestment Plan focuses on which of the 
following? 
(A) Recovery of all debts from the debtors in a phased manner. 
(B) Pumping money very liberally in projects that are mandatory. 
(C) Investing money recklessly in any project regardless of its utility. 
a) (A) only  
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b) (B) only 
c) (C) only  
d) (B) and (C) only 
e) All (A), (B) & (C) 
 
Q.177. John M. Keynes was advocate of which of the following suggestions? 
a) Spending money recklessly during recessions is suicidal 
b) Exorbitant spending during recessions is likely to boost economy 
c) Aggressive deficit spending is likely to be fatal for economic meltdown. 
d) Government stimulus to economy may not help because of red-tapism 
e) None of these 
 
Q.178. Obama desires to accelerate the process of pumping money with utmost rapidity as he believes 
thatit would——. 
(A) help create reasonably high employment opportunities. 
(B) avoid deflation. 
(C) inject cash into the already troubled economy. 
a) A and B only  
b) B and C only  
c) A and C only  
d) All A, B & C  
e) None of these 
 
Q.179. Which of the following is TRUE about Keynes’ philosophy? 
a) Actual spending money during meltdown is more important than where and on what it is spent 
b) Government should be selective in approach for spending money during recession 
c) Filling old bottles with banknotes and burying them is an atrocious proposal 
d) Creating jobs and prosperity during recessions is almost an impracticable proposal 
e) None of these 
 
Q.180. What, according to Keynes, is the “aggregate demand”? 
a) Goods and Services Sector 
b) Stimulation of a short-term activity 
c) Attempting to rev up the sluggish economy 
d) Pumping one trillion dollars into economy 
e) None of these 
 
Q.181. According to the author of the passage, food stamps, bridge repairs, etc. are the projects that - 
a)do not warrant urgent spending as they have a lower utility value 
b)need the least investment and priority as compared to building houses for the needy 
c)may not have any favorable impact on attempts to counter recession 
d)have lower value in terms of returns but require major investments 
e) None of these 
 
Q.182. The author of the passage calls Barack Obama and his team as “Keynesians” because -—— 
a) Barack Obama has been reluctant to follow Keynes’philosophy 
b) His team is advising Barack to refrain from Keynes’ philosophy 
c) Barack Obama and his team have decided to fill old bottles with banknotes 
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d) Building houses has been under the active consideration of Barack Obama and his team 
e) None of these 
 
Q.183. Highways, bridges, ethanol plants, etc. are considered by the author as —— 
a)reasonably appropriate propositions to spend money on 
b)measures that affect the environment adversely 
c)imprudent proposals to waste money on 
d)tax saving schemes bestowed on builders 
e) None of these 
 
Q.184. Which of the following is/are corrective measure(s) as part of the long term priorities of Obama 
thatwas an outcome of his predecessor’s regime? 
(A) Countering recession through immediate rescue operations. 
(B) Reining the budget deficit. 
(C) Creating a more sustainable economy. 
a) (A) & (B) only  
b) (B) & (C) only  
c) (A) & (C) only  
d) (B) only  
e) None of these 
 
Choose the word which is most OPPOSITE in meaning of the word printed in bold as used in thepassage. 
Q.185. raucous 
a)strident 
b)harsh 
c)rough 
d)unprecedented 
e)soft 
 
Q.186. beleaguered 
a)carefree 
b)harassed 
c)stressful 
d)uneventful 
e)evaporating 
 
Q.187. moribund 
a)declining 
b)waning 
c)thriving 
d)pessimistic 
e)glorifying 
 
Choose the word which is most nearly the SAME in meaning as the word given in bold as used inthe 
passage. 
Q.188. frenzy 
a)passion 
b)expression 
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c)succession 
d)habit 
e)manifestation 
 
Q.189. apocalyptic 
a)unwelcome 
b)disastrous 
c) risk-free 
d)joyous 
e)ceremonious 
 
Q.190. resuscitate 
a)melt down  
b)devastate 
c)mislead 
d)save 
e)deactivate 
 
In each of these questions four words are given denoted by (A), (B), (C) & (D). Two of these wordsmay 
be either synonyms or antonyms. Find out the correct pair in each question. 
Q.191. (A) TRANQUILITY (B) LOYALTY(C)CALAMITY (D) UPROAR 
a) A-C  
b) B-D  
c) B-C  
d) C-D  
e) None of these 
 
Q.192. (A) EXORBITANT (B)EXPEDITIOUS(C)QUICK (D)QUEST 
a) C-D  
b) A-B  
c) A-D  
d) C-B  
e) None of these 
 
Q.193. (A)OPAQUE (B)TRANSLUCENT(C) TRANSVERSE (D) TRANSVESTITE 
a) A-D  
b) B-D  
c) C-A  
d) B-A  
e) None of these 
 
Q.194. (A) ECSTASY (B)DEPRESSION(C) INTOXICATION (D) COMPRESSION 
a) A-B  
b) B-D  
c) B-C  
d) C-D  
e) None of these 
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Q.195. (A)VILIFICATION (B)NULLIFICATION(C)DENIGRATION (D)FALSIFICTION 
a) A-B  
b) B-C  
c) A-C  
d) B-D  
e) None of these 
 
Which of the phrases a), b), c) and d) given below should replace the phrase given in bold in 
thefollowing sentence to make the sentence grammatically correct? If the sentence is correct, asit is 
and‘No correction is required’, mark e) as the answer. 
Q.196. Radha’s three children, Shantana, Manu and Meera are talented, but the latter excels the other 
two. 
a)the last excels  
b)latter excel  
c)the latter excelling 
d)the last excelling  
e) No correction required 
 
Q.197. Students are not abandoning helmets, but some avoiding use of helmets while riding 
motorbikes. 
a)some avoid the used  
b)some avoid of the use 
c)some are avoiding of use  
d)some are avoiding use 
e) No correction required 
 
Q.198. We must treat a statement as a rumour until they are confirmed with proof. 
a)till they are confirmed  
b)until they are confirming 
c)until it is confirmed  
d)until it is confirming 
e) No correction required 
 
Q.199. The officer appreciated his subordinate’s many attempt to bravely confront the miscreants. 
a)many attempting brave confronts 
b)many brave attempts to confront 
c)repeated attempts to brave confront 
d)many attempts of brave confront 
e) No correction required 
 
Q.200. We admire his attempting to climb the summit in such a bad weather. 
a)his attempting to climb  
b)his attempt of climbing 
c)him for attempt of climb  
d)his for attempt to climbing 
e) No correction required 
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Q.201. Being a successful businessman demands hard work, honesty, persuasive skills and sound 
marketknowledge. 
a) To be a successful business who demands 
b) Being a successfully demanding businessman 
c) To be a successful businessman demanding 
d) For being a successful demanding businessman 
e) No correction required 
 
Q.202. Was it they who were accused of stealing the neighbor’s car? 
a) Were it they who were  
b) Was it they who had 
c) Were they who 
d) Were it they who 
e) No correction required 
 
Q.203. The doctor has advised him to lay in bed at least for two weeks. 
a)that he lay in bed  
b)that he lays in bed 
c)to lie in bed  
d)to be laid in bed 
e) No correction required 
 
Q.204. He is the only one of the members who has paid all the dues. 
a) member who has paid  
b)members who have been paying 
c)member who has been paid  
d)members who has paid 
e) No correction required 
 
Q.205. Neither any of the members of the society nor the Chairman were present for the annual 
meeting. 
a)were present at  
b) was present for 
c)have been present  
d)has been present for 
e) No correction required 
 
In each sentence below one word has been printed in bold. Below the sentence, five words 
aresuggested, one of which can replace the word printed in bold, without changing the meaning of 
thesentence. Find out the appropriate word in each case. 
 
Q.206. She came in utter disrepute due to her vindictive act. 
a)revengeful 
b)ungrateful 
c)unpardonable 
d)uneventful 
e)derogatory 
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Q.207. His attempts to equivocate the subject under discussion were thwarted. 
a)balance 
b)defend 
c)mislead 
d)adjust 
e)reconcile 
 
Q.208. He was conceptually clear about the problem and therefore could provide a pragmatic solution. 
a)diplomatic 
b)practical 
c)analytical 
d)tolerable 
e)acceptable 
 
Q.209. They returned after their ignominious defeat in the foreign country. 
a)irreversible 
b)impertinent 
c)indecisive 
d)impulse 
e)disgraceful 
 
Q.210. The minister’s clandestine meeting with the opposition party leader was severely criticized. 
a)unofficial 
b)authentic 
c) periodical  
d)secret 
e)purposeful 
 
Rearrange the following six sentences (A), (B),(C), (D), (E) and (F) in .the proper sequence to forma 
meaningful paragraph, then answer the questions given below them. 
(A) In all varieties of humour, especially the subtle ones it is therefore what the reader thinkswhich gives 
extra meaning to these verses. 
(B) But such a verse may also be enjoyed at the surface level. 
(C) Nonsense verse is one of the most sophisticated forms of literature. 
(D) This fulfils the author’s main intention in such a verse which is to give pleasure. 
(E) However the reader who understands the broad implications of the content and allusion findsgreater 
pleasure. 
(F) The reason being it requires the reader to supply a meaning beyond the surface meaning. 
 
Q.211. Which of the following is the THIRD sentence? 
a) (A)  
b) (B)  
c) (F)  
d) (C)  
e) (D) 
 
Q.212. Which of the following is the SECOND sentence? 
a) (A)  
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b) (E)  
c) (F)  
d) (B)  
e) (C) 
 
Q.213. Which of the following is the FIFTH sentence? 
a) (D)  
b) (E)  
c) (B)  
d) (C)  
e) (A) 
 
Q.214. Which of the following is the FIRST sentence? 
a) (E)  
b) (A)  
c) (F)  
d) (D)  
e) (C) 
 
Q.215. Which of the following is the SIXTH (LAST) sentence? 
a) (F)  
b) (E)  
c) (D)  
d) (A)  
e) (C) 
 
Q.216-225.In the following passage, there are blanks, each of which has been numbered. These 
numbers areprinted below the passage and against each, five words are suggested, one of which fits the 
blankappropriately. Find out the appropriate word in case. 

The U.S. is in the (216) of a cleanup of toxic financial waste that will (217) taxpayers hundreds 
ofbillions of dollars, at the very least. The primary manufacturers of these hazardous products 
(218)multimillion-dollar paychecks for their efforts. So why shouldn’t they (219) to pay for their mop-
up?This is, after all, what the U.S. Congress (220) in 1980 for (221) of actual toxic waste. Under 
theSuperfund law (222) that year, polluters (223) for the messes they make. Environmental lawyer 
E.Michael Thomas sees no (224) lawmakers couldn’t demand the same of financial polluters and 
(225)them to ante up some of the bank bailout money. 
 
Q.216.  
a)essence 
b)debate 
c)range 
d)depth 
e)midst 
 
Q.217.  
a)facilitate 
b)save 
c)benefit 
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d)cost 
e)earn 
 
Q.218.  
a)spent 
b)pocketed 
c)donated 
d)demanded 
e)dwindled 
 
Q.219.  
a)have 
b)admit 
c)hesitate 
d)come 
e)defy 
 
Q.220.  
a)admonished 
b)visualized 
c)decreed 
d)refrained 
e)commented 
 
Q.221.  
a)producers 
b)users 
c)consumers 
d)advocates 
e)exponents 
 
Q.222.  
a)abandoned 
b)enacted 
c)revoked 
d)forced 
e)squashed 
 
Q.223.  
a)demand 
b)consider 
c)regain 
d)claim 
e)pay 
 
Q.224.  
a)issue 
b)wonder 
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c)practice 
d)reason 
e)compensation 
 
Q.225.  
a)dupe 
b)follow 
c)force 
d)plead 
e)appeal 
 

 
ANSWERS 
 

Q.1 B 

Q.2 C  

Q.3 B 

Q.4 E  

Q.5 E 

Q.6 E  

Q.7 A  

Q.8 D 

Q.9 B  

Q.10 D 

Q.11 C  

Q.12 A 

Q.13 D 

Q.14 B 

Q.15 A 

Q.16 A 

Q.17 C 

Q.18 D 

Q.19 C 

Q.20 A 

Q.21 E 

Q.22 E  

Q.23 B  

Q.24 E 

Q.25 A 

Q.26 D 

Q.27 E 

Q.28 C 

Q.29 B 

Q.30 A 

Q.31 B 

Q.32 A 

Q.33 C 

Q.34 E 

Q.35 B 

Q.36 D 

Q.37 A 

Q.38 E 

Q.39 B 

Q.40 B 

Q.41 D 

Q.42 A  

Q.43 C 

Q.44 A 

Q.45 C 

Q.46 E 

Q.47 D 

Q.48 E 

Q.49 B 

Q.50 E 

Q.51 E 

Q.52 C 

Q.53 A 

Q.54 D 

Q.55 B 

Q.56 C 

Q.57 D 

Q.58 D 

Q.59 A 

Q.60 A 

Q.61 B  

Q.62 E  

Q.63 D  

Q.64 B 

Q.65 A 

Q.66 C 

Q.67 A  

Q.68 E 

Q.69 D 

Q.70 C  

Q.71 D  

Q.72 A 

Q.73 D  

Q.74 B  

Q.75 E  

Q.76 B  

Q.77 D  

Q.78 A  

Q.79 E 

Q.80 C  

Q.81 A  

Q.82 E  

Q.83 D  

Q.84 B  

Q.85 C  

Q.86 E  

Q.87 C  

Q.88 D  

Q.89 B  

Q.90 A  

Q.91 C 

Q.92 D  

Q.93 A  

Q.94 E 

Q.95 B  

Q.96 D  

Q.97 A  

Q.98 C  

Q.99 C 

Q.100 D 

Q.101 A 

Q.102 B 

Q.103 B 

Q.104 E 

Q.105 E 

Q.106 C  

Q.107 B  

Q.108 E  

Q.109 A  

Q.110 A  

Q.111 D  

Q.112 B  
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Q.113 B  

Q.114 A  

Q.115 C  

Q.116 B  

Q.117 C  

Q.118 B  

Q.119 A  

Q.120 D  

Q.121 E  

Q.122 C  

Q.123 D  

Q.124 A  

Q.125 B 

Q.126  B 

Q.127  D 

Q.128  D 

Q.129  D 

Q.130  B 

Q.131  A 

Q.132  A 

Q.133  A 

Q.134  E 

Q.135  A 

Q.136  A 

Q.137  E 

Q.138  C 

Q.139  A 

Q.140  B 

Q.141  A 

Q.142  B 

Q.143  B 

Q.144  A 

Q.145  C 

Q.146  C 

Q.147  E 

Q.148  A 

Q.149  B 

Q.150  B 

Q.151  C 

Q.152  B 

Q.153  A 

Q.154  D 

Q.155  D 

Q.156  D 

Q.157  A 

Q.158  D 

Q.159  A 

Q.160  B 

Q.161  A 

Q.162  B 

Q.163  D 

Q.164  D 

Q.165  B 

Q.166  B 

Q.167  C 

Q.168  A 

Q.169  D 

Q.170  C 

Q.171  A 

Q.172  A 

Q.173  A 

Q.174  B 

Q.175  E 

Q.176 B 

Q.177 B 

Q.178 A 

Q.179 A 

Q.180 A 

Q.181 E 

Q.182 E 

Q.183 C 

Q.184 C 

Q.185 E 

Q.186 A 

Q.187 C 

Q.188 A  

Q.189 B 

Q.190 D  

Q.191 E 

Q.192 D 

Q.193 D 

Q.194 A 

Q.195 C 

Q.196 A 

Q.197 D 

Q.198 C 

Q.199 B 

Q.200 A 

Q.201 E  

Q.202 A 

Q.203 C  

Q.204 D 

Q.205 B  

Q.206 A  

Q.207 C 

Q.208 B 

Q.209 E  

Q.210 D 

Q.211 C 

Q.212 D 

Q.213 A 

Q.214 E 

Q.215 D 

Q.216 E 

Q.217 B 

Q.218 A 

Q.219 A 

Q.220 B 

Q.221 A  

Q.222 B 

Q.223 E 

Q.224 D  

Q.225 C 
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